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I Analysis of 2" clause in ¥ mMwn — the M’ of birds were not written in the NN
a  But: wnin said that any predatory bird is nknv
i And: an extra “finger” (on back of claw), has a par (crop), its gizzard can be peeled off
it pr7¥ 72 9758 7. any bird that “divides” its claws (under/over when perched) is xno
b analysis: v. 1 lists eagle/vulture as non-17nv
i challenge: just as w1 (v. 1) hasn’t b listed above and is a predator, so too any bird without those nno is nrnv
1 orpn(fit): have extra “finger”, have a crop, have a peelable gizzard and isn’t a predator->all like that are 170
ii ~ Answer (»7aN8): the Do aren’t explicitly mentioned in N, only by oman
¢ &7n s dictum: any bird with no nnv %o, like a 7w, is XY > if it has even one NNV 1YY, it is 1INV
i Challenge: why not use 0110 as the model and require all four n7nv "N’
it~ Answer: if so, why did the nmn list all 24 DRV MAW (V-1:R RIPN, V-1 DI2T)?
1 Challenge: then why not infer from other birds — even those which have 3 mnv »mo (v if they have less)
2 Answer: then why did the nmin explicate the raven (as prohibited) — it only has 2 n7nv »n0?
(a) Challenge: then why not infer prohibition from raven — even if it only has 2 n1nv "0
(b) Answer: why did the nin explicate n31»1 v18 (which have only 1 17nv jn'0)
(i) Challenge: why not infer from n» 1 v19?
(if) Answer: then why did the nmn explicate the prohibition of 7w1 (which has none)?
(iii) rather: since 71 is written, we understand that only if it has no n1nv "o is it RNV
iii  tangent: had 1w1 not been written, we would infer from n°11»1 ©19 (Which have 1 jn°0)
1 challenge: n>3t»1 19 constitute TNXRI WRIN DI2INI NV > PTAYN PR
(a) defense: v1a and N1y do not have the same 171Y 12’0 = no way to infer one from other -~p>11> NV
(b) challenge: there are 24 mrnv maw listed; impossible not to have some that share nnv 0 with ) o1
(i) answer: we have a tradition about 24 ornv ma and 4 nNY NNO:
1. 3: of the Do appear in 20 of them
2. 2: of those three appear in the raven
3. 1: of those appears in either the v1a or the 71y, the 4t (unmatched) appears in the other one
4. (0: appear in the qv3)
a. suggestion: why not infer from those
b. answer: 9v1 is written to teach that only if it has no nnv "o is it forbidden (except the 23)
(if) question: why did the nn explicate 110 as permitted?
1. answer: for use as a 129
d  ypn277s rule: if one is familiar with birds and their names, one N1V M0 is sufficient
i ifnot: one is insufficient; two are enough as long as he can recognize a raven (which has 2 and is nxrnv)
1 challenge: besides the raven, there are others that are forbidden, per ywn% (v. 2) per R™, whose response to
hearing that some people ate such birds based on its having a crop (Xnann nva »wIR) or its gizzard being
“peelable” (19990 9253 »wir) responded that they will be held accountable
2 rather: ...as long as one is familiar with ravens and their types (amy pn)
it final ruling (79°p8): one v is sufficient as long as the bird is (also) not a predator
1 question: how does he respond to 1"’s rule?
(a) answer: unconcerned; only applies to n°atyy v19 which aren’t found where they live
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